

Břetislav Novák

A remark on the theory of lattice points in ellipsoids

Commentationes Mathematicae Universitatis Carolinae, Vol. 8 (1967), No. 2, 219--230

Persistent URL: <http://dml.cz/dmlcz/105106>

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1967

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

A REMARK ON THE THEORY OF LATTICE POINTS IN ELLIPSOIDS

Břetislav NOVÁK, Praha

1. Let n be an integer ≥ 2 . Let $Q(u_j) = \sum_{j,k=1}^n a_{jk} u_j u_k$ be a positive definite quadratic form whose discriminant is denoted by D and let \bar{Q} be the form conjugated with Q . Let M_j, b_j and α_j be real numbers, $M_j > 0$ ($j = 1, 2, \dots, n$). The numbers m and n (supplied with indices if convenient) are always integers. The letter c denotes (various) positive constants depending at most from Q, M_j, b_j and α_j ($j = 1, 2, \dots, n$). (Positive constants may depend e.g. on ε , then we write $c(\varepsilon)$.)

For a natural n , let μ_n be the n -dimensional Lebesgue measure. By an integral we mean the (absolutely convergent) Lebesgue integral; we put

$$\int_{a-i\infty}^{a+i\infty} f(s) ds = i \int_{-\infty}^{\infty} f(a+it) dt.$$

for $a \in E_1$ (provided the integral on the left side exists). The symbols O and Ω are used with regard to the limiting process for $x \rightarrow +\infty$ and the constants involved are of the "type c ". $A \ll B$ means $|A| \leq cB$. If $A \ll B$ and $B \ll A$ we write $A \asymp B$.

The present remark is devoted to the study of certain properties of the function

$$(1) \quad A(x) = A(x, \alpha_j) = \sum e^{i\pi \sum_{j=1}^n \alpha_j u_j},$$

where the summation runs over all systems $\mu_1, \mu_2, \dots, \mu_n$ of real numbers, satisfying $Q(\mu_j) \leq x$ and $\mu_j \equiv b_j \pmod{M_j}$ for $j = 1, 2, \dots, n$. Put

$$V(x) = V(x; \alpha_j) = \frac{\pi^{\frac{n}{2}} x^{\frac{n}{2}} e^{2\pi i \sum_{j=1}^n \alpha_j b_j}}{\sqrt{D} \prod_{j=1}^n M_j \Gamma(\frac{n}{2} + 1)} \sigma$$

($\sigma = 1$ if all numbers $\alpha_1 M_1, \alpha_2 M_2, \dots, \alpha_n M_n$ are integers, $\sigma = 0$ otherwise). Landau proved ([2] pp.54 and 74)

$$(2) \quad P(x) = P(x; \alpha_j) = A(x; \alpha_j) - V(x; \alpha_j) = O(x^{\frac{n}{2} - \frac{n}{2+1}})$$

and, if $A(x) \neq 0$,

$$(3) \quad P(x) = \Omega(x^{\frac{n-1}{4}}).$$

Clearly, without loss of generality, we are able to assume

$$0 \leq b_j < M_j \quad \text{and} \quad 0 \leq \alpha_j < \frac{1}{M_j} \quad (j = 1, 2, \dots, n).$$

2. Denoting $\mathcal{M} = \langle 0, \frac{1}{M_1} \rangle \times \langle 0, \frac{1}{M_2} \rangle \times \dots \times \langle 0, \frac{1}{M_n} \rangle$, let us examine the function

$$(4) \quad \int_{\mathcal{M}} |A(x)|^{2\mu} d\alpha_1 d\alpha_2 \dots d\alpha_n = \int_{\mathcal{M}} |P(x)|^{2\mu} d\alpha_1 d\alpha_2 \dots d\alpha_n,$$

where μ is a natural number ($\sigma = 1$ in \mathcal{M} only for $\alpha_j = 0$, $j = 1, 2, \dots, n$).

Lemma 1.

$$(5) \quad \int_{\mathcal{M}} |P(x)|^{2\mu} d\alpha_1 d\alpha_2 \dots d\alpha_n = \frac{1}{\prod_{j=1}^n M_j} \sum 1,$$

where the summation runs over all systems

$$(6) \quad n_{1k}, n_{2k}, \dots, n_{nk}, m_{1k}, m_{2k}, \dots, m_{nk} \quad (k = 1, 2, \dots, \mu)$$

satisfying

$$(7) \quad Q(n_{jk} M_j + b_j) \leq x, \quad Q(m_{jk} M_j + b_j) \leq x \quad (k = 1, 2, \dots, \mu)$$

and
$$\sum_{k=1}^n m_{jk} = \sum_{k=1}^n m_{jk} \quad (j = 1, 2, \dots, n).$$

(8)

Proof: Clearly,

$$\int_m |A(x)|^{2n} d\alpha_1 d\alpha_2 \dots d\alpha_n = \int_m A^n(x) \overline{A^n(x)} d\alpha_1 d\alpha_2 \dots d\alpha_n =$$

$$(9) \quad = \sum \int_m e^{2\pi i \sum_{j=1}^n \alpha_j M_j \sum_{k=1}^n (m_{jk} - n_{jk})} d\alpha_1 d\alpha_2 \dots d\alpha_n.$$

(the summation runs over all systems (6) satisfying (7)). Since for an integer m and $M > 0$ it holds that

$$\int_0^1 e^{2\pi i \alpha M m} d\alpha = \begin{cases} 0 & \text{for } m \neq 0 \\ \frac{1}{M} & \text{for } m = 0 \end{cases}$$

we can infer immediately from (9) the assertion of the lemma.

Lemma 2. Let n and r be natural numbers, and let \mathcal{E} be a measurable set with $\mu_n(\mathcal{E}) < +\infty$. Let f be a measurable function on \mathcal{E} . Then

$$(10) \quad \sqrt[r]{\int_{\mathcal{E}} |f(t)|^r dt} \leq \text{vrai sup}_{t \in \mathcal{E}} |f(t)| \sqrt[r]{\mu_n(\mathcal{E})}$$

and

$$(11) \quad \lim_{r \rightarrow \infty} \sqrt[r]{\int_{\mathcal{E}} |f(t)|^r dt} = \text{vrai sup}_{t \in \mathcal{E}} |f(t)|.$$

Proof: We may assume $\mu_n(\mathcal{E}) > 0$. Put

$$T = \text{vrai sup}_{t \in \mathcal{E}} |f(t)|.$$

If $T = +\infty$ (10) holds. Let $T < T' < +\infty$. We have

$$1) \quad \text{vrai sup}_{t \in \mathcal{E}} |f(t)| = \text{vrai sup}_{\mathcal{E}} |f(t)| = \inf_{\substack{\mathcal{E}' \subset \mathcal{E} \\ \mu_n(\mathcal{E}') > 0}} \text{sup}_{t \in \mathcal{E}'} |f(t)|.$$

$$\sup_{t \in \mathcal{L}} |f(t)| \leq T'$$

for a suitable subset \mathcal{L} of \mathcal{E} such that $\mu_n(\mathcal{L}) = 0$
and thus

$$\sqrt[\mu]{\int_{\mathcal{L}} |f(t)|^\mu dt} \leq T' \sqrt[\mu]{\mu_n(\mathcal{L})}.$$

As T' is arbitrary, (10) follows. Let $T > 0$ (otherwise (10) implies (11)) and $0 < T' < T$. Putting

$$\mathcal{L} = \{t \in \mathcal{E}; |f(t)| \geq T'\}$$

we have necessarily $\mu_n(\mathcal{L}) > 0$ and further

$$\sqrt[\mu]{\int_{\mathcal{L}} |f(t)|^\mu dt} \geq T' \sqrt[\mu]{\mu_n(\mathcal{L})}.$$

From this and (10) using the limit for $\mu \rightarrow +\infty$ and having in view that T' is arbitrary ($T' < T$), we obtain (11).

Theorem 1.

$$\operatorname{vrai\,sup}_{(\alpha_1, \alpha_2, \dots, \alpha_n) \in \mathcal{M}} |P(x; \alpha_j)| \ll x^{\frac{n}{2}}.$$

Proof: Let μ be a natural number. Denoting $S(x, \mu)$ the right hand side in (5) we infer from lemmas 1 and 2 ($A(x)$ is continuous in \mathcal{M} and thus measurable)

$$\operatorname{vrai\,sup}_{\mathcal{M}} |A(x)| = \operatorname{vrai\,sup}_{\mathcal{M}} |P(x)| = \lim_{\mu \rightarrow +\infty} \sqrt[\mu]{\int_{\mathcal{M}} |P(x)|^\mu d\alpha_1 d\alpha_2 \dots d\alpha_n}$$

i.e.

$$(12) \quad \operatorname{vrai\,sup}_{\mathcal{M}} |P(x)| = \lim_{\mu \rightarrow +\infty} \sqrt[\mu]{S(x, \mu)}.$$

Putting

$$B(x) = A(x; 0, 0, \dots, 0)$$

it is

$$S(x, \mu) \ll B^{2\mu}(x).$$

But, by (2)

$$B(x) \ll x^{\frac{n}{2}}.$$

Therefore

$$(13) \quad \sqrt[2r]{S(x, r)} \ll x^{\frac{r}{2}}$$

Note that

$$Q(u_j) \ll \max_{j=1,2,\dots,r} |u_j|^2$$

holds for $(u_1, u_2, \dots, u_r) \in E_r$ and hence

$$S(x, r) \gg \sum 1,$$

where the summation runs over all systems (6) satisfying (8)

and

$$|m_{jk} M_j + b_j| \ll \sqrt{x}, \quad |m_{jk} M_j + b_j| \ll \sqrt{x}$$

($k = 1, 2, \dots, r, j = 1, 2, \dots, r$). This implies

$$S(x, r) \gg \sum 1,$$

where the summation runs over all systems (6) satisfying (8)

and

$$|m_{jk}| \ll \sqrt{x}, \quad |m_{jk}| \ll \sqrt{x}$$

($k = 1, 2, \dots, r, j = 1, 2, \dots, r$).

Put

$$R(u) = \sum 1$$

for $u > 0$, where the summation runs over all $m_1, m_2, \dots, m_{2r-1}$ for which

$$|m_j| \leq u \quad (j = 1, 2, \dots, 2r-1)$$

and

$$\left| \sum_{j=1}^{2r-1} m_j \right| \leq u.$$

We shall examine the function $R(u)$. Clearly, we may consider only natural u . Putting

$$f(d) = \sum_{m=-u}^u e^{2\pi i \alpha m}$$

for $\alpha \in \langle 0, 1 \rangle$, i.e.

$$V(\alpha) = \begin{cases} \frac{\sin(2\mu+1)\pi\alpha}{\sin \pi\alpha} & \text{for } \alpha \in (0, 1) \\ 2\mu+1 & \text{for } \alpha = 0, 1 \end{cases},$$

it is easily seen that

$$R(\mu) = \sum_{m=-\mu}^{\mu} \int_0^1 V^{2\mu-1}(\alpha) e^{-2\pi i \alpha m} d\alpha = \int_0^1 V^{2\mu-1}(\alpha) \overline{V(\alpha)} d\alpha$$

and thus

$$R(\mu) = \int_0^1 \left(\frac{\sin(2\mu+1)\pi\alpha}{\sin \pi\alpha} \right)^{2\mu} d\alpha.$$

But, by lemma 2, we have

$$\lim_{\mu \rightarrow +\infty} \sqrt{R(\mu)} = \max_{\alpha \in (0,1)} \sup | \frac{\sin(2\mu+1)\pi\alpha}{\sin \pi\alpha} | = 2\mu+1.$$

Finally, we obtain the relation

$$\lim_{\mu \rightarrow +\infty} \sqrt{S(x, \mu)} \gg (\lim_{\mu \rightarrow +\infty} \sqrt{R(c\sqrt{x})})^\mu \gg x^{\frac{\mu}{2}},$$

proving together with (13) and (12) the theorem.

Comparing the result with (2) we can see a remarkable non-uniformity of this estimation on $P(x)$. If we confine ourselves to the case of a_{jk} , M_j , l_j ($j, k = 1, 2, \dots, \kappa$) being integers, the comparison becomes still more surprising. In [3] the following theorem is stated under these assumptions and for $\kappa > 5$:

There exists a set $\mathcal{L} \subset \mathcal{M}$, $\mu_\kappa(\mathcal{L}) = 0$ such that

$$P(x; \alpha_j) = O(x^{\frac{\kappa}{2} + \varepsilon})$$

for $(\alpha_1, \alpha_2, \dots, \alpha_\kappa) \in \mathcal{M} - \mathcal{L}$ and for every $\varepsilon > 0$ (the constants in O -relation are of type $c(\varepsilon)$).

Nevertheless, by the theorem 1 we have

$$\sup_{(\alpha_1, \alpha_2, \dots, \alpha_n) \in \mathbb{R}^n} |P(x; \alpha_j)| \gg x^{\frac{n}{2}}$$

We emphasize, for next purposes, an important consequence of lemma 1 (see [3] theorem 4):

Theorem 2.

$$(14) \quad \int_{\mathbb{R}^n} |P(x)|^2 d\alpha_1 d\alpha_2 \dots d\alpha_n = \frac{A(x, 0, 0, \dots, 0)}{M_1 M_2 \dots M_n}$$

J. Kendall [1] examined similar expressions with regard to b_1, b_2, \dots, b_n under assumption $\alpha_1 = \alpha_2 = \dots = \alpha_n = 0$, $M_1 = M_2 = \dots = M_n$, especially for the case of a circle. In the following we shall prove his result in general form and in a different way on the basis of the identity of Landau.

Let $0 \leq \lambda_1 < \lambda_2 < \dots$ ($0 < \lambda'_1 < \lambda'_2 < \dots$) be the sequence of all numbers of the form $Q(m_j; M_j + b_j)$ ($Q(\frac{m_j}{M_j} - \alpha_j) > 0$) for all integers m_1, m_2, \dots, m_n . Let

$$a_n = \sum e^{2\pi i \sum_{j=1}^n \alpha_j (m_j M_j + b_j)}$$

$$(a'_n = \sum e^{2\pi i \sum_{j=1}^n \frac{b_j}{M_j} m_j}, a''_n = \sum 1),$$

where the summation runs over all systems m_1, m_2, \dots, m_n satisfying $Q(m_j; M_j + b_j) = \lambda_n$ ($Q(\frac{m_j}{M_j} - \alpha_j) = \lambda'_n$). Denote

$$\mathcal{N} = \langle 0, M_1 \rangle \times \langle 0, M_2 \rangle \times \dots \times \langle 0, M_n \rangle.$$

Theorem 3.

$$(15) \quad \int_{\mathcal{N}} |P(x)|^2 db_1 db_2 \dots db_n = \frac{x^{\frac{n}{2}}}{D \prod_{j=1}^n M_j} \sum_{n=1}^{\infty} a''_n \frac{J_{\frac{n}{2}}(2\pi \sqrt{\lambda'_n} x)}{\lambda'^{\frac{n}{2}}}. \quad 2)$$

2) J_{ν} is the Bessel function.

Proof: Put

$$(16) \quad A_\rho(x; \alpha_j) = \frac{1}{\Gamma(\rho+1)} \sum_{\lambda_n \neq x} a_n (x - \lambda_n)^\rho$$

$$(17) \quad V_\rho(x; \alpha_j) = \frac{\pi^{\frac{\rho}{2}} x^{\frac{\rho}{2} + \rho} e^{2\pi i \sum_{j=1}^k \alpha_j b_j}}{\sqrt{D} \prod_{j=1}^k M_j \Gamma(\frac{\rho}{2} + \rho + 1)} \sigma, \quad P_\rho(x; \alpha_j) = A_\rho(x; \alpha_j) - V_\rho(x; \alpha_j)$$

for $\rho \in E_1, \rho \geq 0$ (It is $A_0 = A, V_0 = V, P_0 = P, \int_0^x A_\rho(y) dy = A_{\rho+1}(x)$ etc.) Because

$$\theta(s) = \sum_{n=1}^{\infty} a_n e^{-\lambda_n s} = \frac{\pi^{\frac{\rho}{2}}}{\sqrt{D} \prod_{j=1}^k M_j s^{\frac{\rho}{2}}} \left(e^{2\pi i \sum_{j=1}^k \alpha_j b_j} \sigma + \sum_{n=1}^{\infty} a'_n e^{-\frac{\pi^2 \lambda'_n}{s}} \right)$$

for s complex such that $\text{Res} > 0$ and, clearly,

$$A_\rho(x) = \frac{1}{2\pi i} \int_{a-i\infty}^{a+i\infty} \frac{e^{xs} \theta(s)}{s^{\rho+1}} ds$$

($a \in E_1, a > 0, \rho > 0$)

we obtain

$$(18) \quad P_\rho(x) = \frac{x^{\frac{\rho}{2} + \rho}}{\sqrt{D} \prod_{j=1}^k M_j \pi^\rho} \sum_{n=1}^{\infty} a'_n \frac{J_{\frac{\rho}{2} + \rho}(2\pi\sqrt{\lambda'_n} x)}{\lambda_n^{\frac{\rho}{2} + \rho}}$$

for $\rho > \frac{k}{2}$ (similarly as Landau [2] pp.258-264 for integer $\rho > \frac{k}{2}$).

The series on the right hand side is moreover absolutely and uniformly convergent for $(b_1, b_2, \dots, b_k) \in \mathcal{H}$ (still for $\rho > \frac{k}{2}$). It implies

$$(19) \quad \int_n P_\rho(x; \alpha_j) P_\rho(x; \alpha_j) db_1 db_2 \dots db_k = \frac{x^{\frac{\rho}{2} + \rho}}{D \prod_{j=1}^k M_j \pi^\rho} \sum_{n=1}^{\infty} a''_n \frac{J_{\frac{\rho}{2} + \rho}^2(2\pi\sqrt{\lambda'_n} x)}{\lambda_n^{\frac{\rho}{2} + \rho}}$$

because of

$$\int_n a'_n \bar{a}'_m db_1 db_2 \dots db_k = \begin{cases} a''_n \prod_{j=1}^k M_j & \text{for } n = m \\ 0 & \text{for } n \neq m \end{cases}$$

and the interchangeability of summation and integration.

The right hand side of (19) is a continuous function of the variable ρ for $\rho \geq 0$ (in the point 0 we mean the one-sided continuity) and holomorphic with respect to in the half-plane $\operatorname{Re} \rho > 0$. We shall investigate the left side. Let \mathcal{L} be the set of all $(l_1, l_2, \dots, l_n) \in \mathcal{H}$ such that $Q_j(m_j, M_j + l_j) = \chi$ for suitable m_1, m_2, \dots, m_n . Clearly $\mu_n(\mathcal{L}) = 0$. From (16) and (17) it follows that the function $P_\rho(x; \alpha_j)$ and conclusively the integrand in (19) is continuous in the domain $\rho \geq 0$ and holomorphic with respect to ρ in the half-plane $\operatorname{Re} \rho > 0$ for $(l_1, l_2, \dots, l_n) \in \mathcal{H} - \mathcal{L}$. Using the Lebesgue theorem we thus obtain that the function $(\rho_1 = \operatorname{Re} \rho, \rho_2 = \operatorname{Im} \rho)$

$$F(\rho) = F(\rho_1 + i\rho_2) = \int_{\mathcal{H}} P_\rho(x; \alpha_j) P_\rho(x; -\alpha_j) dl_1 dl_2 \dots dl_n$$

is continuous for $\rho \geq 0$ and her derivatives

$$\frac{\partial F(\rho)}{\partial \rho_1} = \int_{\mathcal{H}} \frac{\partial P_\rho(x; \alpha_j) P_\rho(x; -\alpha_j)}{\partial \rho_1} dl_1 dl_2 \dots dl_n,$$

$$\frac{\partial F(\rho)}{\partial \rho_2} = \int_{\mathcal{H}} \frac{\partial P_\rho(x; \alpha_j) P_\rho(x; -\alpha_j)}{\partial \rho_2} dl_1 dl_2 \dots dl_n$$

are continuous for $\rho_1 > 0$. Since the Cauchy-Riemann conditions hold (almost everywhere in \mathcal{H}) for the integrand in (19) they hold for the function F and thus the left side in (19) is holomorphic with respect to ρ in the half-plane $\operatorname{Re} \rho > 0$. Because (19) is proved for $\rho \in E_1, \rho > \frac{\lambda}{2}$ we can, using the theorem of uniqueness, state that (19) holds in the half-plane $\operatorname{Re} \rho > 0$ and we obtain (15) using the limiting process $\rho \rightarrow 0_+$.

4. Applying (2) to (14) and the asymptotic properties of Bessel functions to (15) we are ready to state

Lemma 3.

$$(20) \quad \int_{\mathcal{H}} |P(x)|^2 d\alpha_1 d\alpha_2 \dots d\alpha_n \asymp x^{\frac{n}{2}}$$

$$(21) \quad \int_{\mathcal{H}} |P(x)|^2 db_1 db_2 \dots db_n = O(x^{\frac{n}{2}-\frac{1}{2}}), \quad \int_{\mathcal{H}} |P(x)|^2 db_1 db_2 \dots db_n = \Omega(x^{\frac{n}{2}-\frac{1}{2}})$$

Analogously as Kendall did in [1], we can now derive from (20) and (21) a series results using the well-known lemma (see [4], p.345):

Lemma 4. Let $\mathcal{H} \subset E_n$ be a measurable set and let $f_n(t)$ ($n = 1, 2, \dots$) be a function measurable on \mathcal{H} . Let the series

$$\sum_{n=1}^{\infty} \int_{\mathcal{H}} |f_n(t)|^2 dt$$

be convergent. Then there exists a set $\mathcal{L} \subset \mathcal{H}$, $\mu_n(\mathcal{L}) = 0$ such that

$$\lim_{n \rightarrow +\infty} f_n(t) = 0$$

for any $t \in \mathcal{H} - \mathcal{L}$.

If we put in this lemma $\mathcal{H} = \mathcal{H}$ or $\mathcal{H} = \mathcal{H}$,

$$f_n(\alpha_1, \alpha_2, \dots, \alpha_n) = P(x_n) x_n^{-\frac{n}{2}} \lambda^{-1}(x_n)$$

or

$$f_n(b_1, b_2, \dots, b_n) = P(x_n) x_n^{-\frac{n}{2} + \frac{1}{2}} \lambda^{-1}(x_n)$$

respectively, where $\lambda(x)$ is a positive function of x and $\{x_n\}$ is an increasing sequence of positive real numbers,

$$\lim_{n \rightarrow +\infty} x_n = +\infty, \quad \sum_{n=1}^{\infty} \frac{1}{\lambda^2(x_n)} < +\infty$$

we can obtain from (20) and (21) by suitable choice of $\lambda(x)$ and $\{x_n\}$ the following results:

Theorem 4. a) If an increasing sequence $\{x_n\}$ of positive real numbers has a zero exponent of convergence then

$$(22) \quad P(x_n) = O(x_n^{\frac{A}{q} + \varepsilon}) \quad (P(x_n) = O(x_n^{\frac{A-1}{q} + \varepsilon}), \text{ resp.})$$

almost everywhere in \mathcal{M} (\mathcal{N} resp.) for $n \rightarrow +\infty$ and for any $\varepsilon > 0$ (the constants in O -relations are $c(\varepsilon, \{x_n\})$).

b) If $\lambda(x)$ is an arbitrary increasing positive function, $\lim_{x \rightarrow +\infty} \lambda(x) = +\infty$, it is

$$\liminf_{x \rightarrow +\infty} \frac{|P(x)|}{x^{\frac{A}{q}} \lambda(x)} = 0 \quad (\liminf_{x \rightarrow +\infty} \frac{|P(x)|}{x^{\frac{A-1}{q}} \lambda(x)} = 0, \text{ resp.})$$

almost everywhere in \mathcal{M} (\mathcal{N} resp.).

c) If the exponent of convergence of the sequence $\lambda_2, \lambda_3, \dots$ is 2σ it is

$$(23) \quad P(x) = O(x^{\frac{A}{q} + \sigma + \varepsilon})$$

almost everywhere in \mathcal{M} for any $\varepsilon > 0$ (the constants in O -relation are $c(\varepsilon)$).

Proof: The assertions a) and b) are obvious. Let $\varepsilon > 0$ be an arbitrary real number. Putting $x_n = \lambda_n$ and $\lambda(x) = x^{\sigma + \varepsilon}$ we obtain

$$P(\lambda_n) = O(\lambda_n^{\frac{A}{q} + \sigma + \varepsilon})$$

almost everywhere in \mathcal{M} (for $n \rightarrow +\infty$). Because $\sigma = 1$ in \mathcal{M} only for $\alpha_j = 0$ ($j = 1, 2, \dots, k$) we have also

$$P(\lambda_n) = A(\lambda_n) = O(\lambda_n^{\frac{A}{q} + \sigma + \varepsilon})$$

almost everywhere in \mathcal{M} (for $n \rightarrow +\infty$) and thus $(A(x) = P(x) = A(\lambda_n)$ for $\lambda_n \leq x < \lambda_{n+1}$, $\sigma = 0$)

$$P(x) = O(x^{\frac{n}{4} + \sigma + \varepsilon})$$

almost everywhere in \mathcal{M} , i.e. (23).

A comparison of the two results (22) indicates that possible definitiveness of the exponent in (3) may be due to the nature of the system $\vartheta_1, \vartheta_2, \dots, \vartheta_n$.

R e f e r e n c e s

- [1] D.G. KENDALL: The number of lattice points inside a random oval, Quarterly J. of Math. XIX(1948), 1-26.
- [2] E. LANDAU: Ausgewählte Abhandlungen zur Gitterpunktlehre, Berlin 1962.
- [3] B. NOVÁK: On lattice points in high-dimensional ellipsoids (Preliminary communication), Comment. Math. Univ. Carol. 7(1966), 479-484.
- [4] H. WEYL: Über die Gleichverteilung von Zahlen mod Eins, Math. Ann. 77(1916), 313-352.

(Received January 25, 1967)